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DIPLOMA IN NUTRITION AND 
HEALTH EDUCATION 

Term-End Examination 

June, 2011 

DNHE-2 : PUBLIC HEALTH AND HYGIENE 

Time : 3 hours 	 Maximum Marks : 100 

Note : Question No 1 is compulsory. Answer five questions 
in all. 

1. 	(a) Explain the following in 2-3 sentences only. 10 

(i) Human reservoir 
(ii) Passive Immunity 
(iii) Epidemiology 
(iv) Life expectancy at birth 
(v) Environmental Economics 

(b) 	Fill in the blanks : 
(i) The recommended schedule megadoze 

of vitamin A administered for children 
6 - 11 months is 	 I.U. 

(ii) In mid day meal programme the 
supplementary nutrition is given to 
each beneficiary which provides 
	k cal and 	g protein. 

(iii) 	 externa is an infection of 
the external ear. 
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(iv) 	 test is used for diagnosis 
of tuberculosis infection. 

(v) Taeniasis is caused by 
infestation. 

	

(c) Give one example for each of the following : 	5 

(i) Nutrient Deficiency control 
programme 

(ii) Health Programme 

(iii) Programme for the promotion of 
mother and child Health 

(iv) Programme for improving attendance 
and raising the nutritional status of 
primary school children. 

(v) Service provided under the CSSM 
programme. 

2. 	(a) Differentiate between the spacing and 10 
terminal methods of family planning 
explaining these methods briefly. 

(b) Explain any one measure from each of the 
following. 	 5+5=10 

(i) Fertility measure 

(ii) Epidemiological measure 
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3. 	(a) Explain the term "Dietary Management." 
	

5 

(b) Enumerate the important points you would 
like to communicate to members of the 
community regarding dietary management of 

(i) Fever and 
	 71/2+71/2=15 

(ii) Diabetes 

	

4. 	(a) Define food poisoning. 	 3 

(b) Enumerate the common food toxins, food 	7 
infections and intoxications prevalent in our 
community. 

(c) Describe the management, prevention and 
control measures for any one food infection 
and food intoxication. 	 5+5=10 

	

5. 	(a) List any three important childhood 	3 
infections diseases prevalent in our country. 

(b) Enumerate the preventive measures you 	7 
would advocate to the community 
regarding management of these problems. 

(c) Give one example for each of the following. 	3 

(i) Insect infestation 

(ii) Eye infection 

(iii) Parasitic infestation 

(d) Explain the causes, complications and 	7 
preventive measures for the condition 
mentioned at c above. 
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6. 	(a) What are the different levels of health care 	6 
facilities and functionaries available in our 
country ? 

(b) How can community participation help in 	5 
improving primary health care ? 

(c) Describe the main features/components of 
the following programmes : 	 3+3+3=9 

(i) National AIDS control programme 

(ii) ICDS 

(iii) Jawahar Rozgar Yojana 

	

7. 	(a) With the help of a flow chart illustrate the 	5 
environmental influences that affect our 
health. 

(b) Briefly describe what role you as a public 	5 
health nutritionist and the community can 
play in environmental protection. 

(c) Briefly discuss the various methods of waste 10 
disposal available in an urban set-up. 

	

8. 	Write short notes on any four of the following : 

(a) Public Safety - Preventive Measures 

(b) Substance Abuse. 	 5+5+5+5=20  

(c) Agents of Contamination 

(d) Cholera - Symptoms, Comflications and 
Management. 

(e) National Immunization Programme. 
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